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FEZHE (@) 21 110 A 89
REFHESNZESE (3) (=D—@) 0 AT 17
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+ EDRUH 134,715 + h5—TJUvH 80,850
= 723555
FHR 66 67 A
FHR 66 67 A TP—LNYEVD 2,100 X 12
+ FRAFHNE 40,000 = 65200
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e 1,315 1435 A 120 PCU—2X 825,300 + ENRI% @ 28,980
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— 974,000
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REXDERAESZE 4,558 5659 A 1,101
EBRUY — E2EPHRAS T 11 2126 A 2115 INOE&D 1,000 + $ERE\ED 10,000
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e 8,545 8562 AT BEA 4,252,013 + i@ 3,119,550
+ BIERES 966,000 + BAHE, BE 200,000
+ EERESNE 7,000 X 1 = 8544,563
RTR 4,840 4,918 AT8 7= 1,669,500 + TLA—% 735,000
+ 05 567,000 + BELHIE 441,000
+ B2 446,250 + BITEY 427,560
+ BEERER 236,775 + 155,400
+ B8RP 109,200 + E7 ./ 51,450
= 4,839,135
IBEREN 84 84 0
ESRER 84 84 O 83,490
SER 556 547 9
{2 556 547 9 (2JE- 20,475 + &YV k 2,709
+ 250-Ry bk 11,550 + BEED 11,550
) X 12 = 555408
RN 635 636 A
AR 635 636 A1 CHEER 635,000
FREXOBHEASZH 425 439 A4
RIEXDEHEASIH 425 439 A 14 |
BEANEBLPHEAEZH 425 439 A14  O5AD BIRELT 424,000
+ BUESEIBROBRTE CRED) 1,000
= 425000
BEZHE (@) 31,658 29,743 1,915
BREFHERNZEE (3) (=D—2) 0 o) 0
LR INEEES (OD+@) 0 0 0
REZEREZSHES
x PEEBRL
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